Boxholms BS
Partavling 2019-02-21

Partavling, 6 bord, 12 par. Antal brickor: 27. Medel: 135.0.

Plac Par Poéang % Namn MID Klubb
1 4 171 63.33 Lars Persson - Bosse Johansson 84155 20119 Boxholms BS
2 3 169 62.59  Sirkka Kulojarvi - Torgil Slatte 90451 1571  Mjdlby BK - Boxholms BS
3 5 161 59.63 Charlotta Jonsson - Lars-Eije Svensson 86566 14309 Ské&nninge BK - Motala Bridgeallians
4 8 140 51.85 Torbjorn Hall - Kenth Irebo 20107 78728 Boxholms BS - Trands BK
5 2 135 50.00 Irma Schoultz - Bo Andersson 23145 83794 Trands BK
6 1 133 49.26 Lars Palmgren - Bertil Hessler 59082 8839 Boxholms BS
7 7 131 48.52  Jan-Ake Sjogren - Siv Montelius 20120 205 Boxholms BS
7 12 131 48.52  Christer Edestedt - Inge Kind 6502 13448 Skanninge BK - Boxholms BS
9 6 118 43.70  Anders Hallén - Mona Gustavsson 92906 15504 Ské&nninge BK
10 9 117 43.33  Barbro Lofgren - Gunilla Carlsson 23159 23160 Trands BK
11 10 114 42.22  Ake Aronsson - Lennarth Jerse 23150 1575 Tranas BK - Boxholms BS
12 11 100 37.04  Ann-Britt Ostberg - Anita Jonsson 42116 61125 Boxholms BS
1 Nord Ingen 2 Ost NS 3 Syd OV
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res
3 11 3vV-3 3 150 1000 00| 3 11 3NN+1 2 630 100 00| 4 9 INV-2 vQ 200 10.0
10 1 3¢ N+1 &2 130 80 20| 6 8 3NS= *] 600 6.0 40| 3 11 24 V-1 *7 100 8.0
4 9 3¢ N= 43 110 6.0 40| 7 12 3NN= 6 600 60 40| 2 5 24V= *K -110 4.0
6 8 340-1 #A 50 30 7010 1 3NN= 2 600 60 40| 6 8 24V= &K -110 4.0
7 12 34 O-1 #A 50 30 7.0 4 9 INN+2 ¢4 150 20 80| 7 12 24 V= *T -110 4.0
2 5 44DS-2 #A -300 0.0 100 2 5 3NN-2 +3 -200 00 100(10 1 2NV= vQ -120 0.0
4 Vast Alla 5 Nord NS 6 Ost OV
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res
5 1 3NS= 46 600 1000 00| 8 12 64 N+1 #6 1460 100 00|11 4 24DS= +Q 470 10.0 0.0
7 9 24S+2 v 130 80 20| 3 6 44 S+3 43 710 70 30| 7 9 24S+1 ¢Q 140 80 20
3 6 INS+1 43 120 6.0 40(10 2 44 S+3 ¥vQ 710 70 30| 8 12 3NO-1 A 100 6.0 4.0
8 12 INS= *7 90 40 6.0 7 9 3NN+3 49 690 40 60| 5 1 2#S= +Q 90 40 6.0
10 2 3NN-1 v7 -100 1.0 90| 5 1 3NN+2 &3 660 20 80| 3 6 2NO= s A -120 1.0 9.0
11 4 2NS-1 48 -100 1.0 90|11 4 3NS+1 3 630 0.0 10010 2 2NO= vA -120 1.0 9.0
7 Syd Alla 8 Vst Ingen 9 Nord OV
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res
8 1 2NN+2 & 180 100 00| 6 2 1vV+2 &J -140 100 0.0| 8 1 34N-2 ¢9 -100  10.0
4 7 3#N+2 ©vA 150 40 6.0|12 9 2NV+1 &7 -150 80 20| 4 7 3vO+2 &A -200 6.0
5 11 3« N+2 ©vA 150 40 6.0| 4 7 3NV= Ly -400 6.0 40(10 3 3vO+2 &A -200 6.0
6 2 3&N+2 ©vA 150 40 6.0 5 11 3NV+1 &2 -430 30 7.0(12 9 3vO+2 &A -200 6.0
10 3 3&N+2 ¢Q 150 40 6.0 8 1 3NV+1l &2 -430 30 70| 6 2 3NV= &K -600 2.0
12 9 4 N+1 vK 150 40 6.0{10 3 3NV+2 &4 -460 0.0 100 5 11 4v O+1 T -650 0.0
10 Ost Alla 11 Syd Ingen 12 vVast NS
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res
5 8 4vS+1 #Q 650 100 00|10 4 3¢ V-3 *K 150 100 00| 6 11 44 S= *5 620 10.0
6 11 4v S= 46 620 80 20| 6 11 2NO-1 &2 50 80 20| 1 12 3NN= .7 600 7.0
9 2 3NN= *4 600 6.0 40| 1 12 2NO= v4 -120 60 40 5 8 3NS= »5 600 7.0
1 12 3#V-5 + K 500 40 6.0( 5 8 INO+2 T -150 30 70 9 2 3NS-1 *6 -100 3.0
7 3 4vS-1 *Q -100 1.0 90| 9 2 INO+2 v4 -150 30 70(10 4 445S-1 49 -100 3.0
10 4 4v S-1 *Q -100 1.0 90| 7 3 2¢DN-2 4K -300 0.0 100 7 3 INN-2 +3 -200 0.0
13 Nord Alla 14 Ost Ingen 15 Syd NS
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res
11 7 44 N+3 &A 710 1000 00|10 5 3NN+3 «Q 490 100 00| 8 4 54DS= vA 750 10.0 0.0
2 12 4v S+1  +K 650 80 20| 1 3 3NS+2 #4 460 70 30| 1 3 5#S-= vA 600 80 20
1 3 24 N+5 8 260 6.0 40| 8 4 3NS+2 «4 460 70 3010 5 5v0-2 +6 100 50 5.0
6 9 4vS-1 + K -100 20 80| 6 9 3NS+1 #4 430 40 60|11 7 5v0-2 +6 100 50 5.0
8 4 4vS-1 +K -100 20 80| 2 12 2NN+3 #4 210 20 80| 2 12 4v V-1 ¢ A 50 10 9.0
10 5 5vS-1 +K -100 20 8011 7 5#N-1 %6 -50 0.0 100 6 9 4v O-1 46 50 1.0 9.0
16 Vast OV 17 Nord Ingen 18 Ost NS
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res
2 4 64V-3 *A 300 90 10|12 3 4v N= 45 420 100 00| 7 1 3NO-1 v6 50 10.0
10 6 64 V-3 *A 300 90 10| 8 11 5¢ S= s A 400 80 20| 8 11 3#0+2 +A -150 8.0
7 1 464 V-1 *A 100 6.0 40| 7 1 3¢ S= v6 110 6.0 40(10 6 3NO+1 v2 -430 5.0
8 11 5¢ O= *3 -600 40 6.0 9 5 3NS-1 v6 -50 30 70(12 3 3NO+1 v6 -430 5.0
12 3 44 V= vT -620 20 80(10 6 3NS-1 *2 -50 30 7.0 9 5 3NV+2 3 -460 2.0
9 5 6NO+1 46 -1470 0.0 100 2 4 5¢DS-1 5 -100 0.0 100 2 4 34DS-4 #Q -1100 0.0
19 Syd OV 20 Vast Alla 21 Nord NS
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res
1 6 3¢S+l a2 130 100 00| 1 6 3NS+3 &2 690 80 20| 4 12 3NS= *] 600 9
3 5 44 V-1 ¢+ 4 100 6.0 40| 4 12 3NS+3 3 690 80 20| 8 2 3NS= »5 600 9.
4 12 34 V-1 +*J 100 6.0 40(10 7 3NN+3 &J 690 80 20| 1 6 2NS+1 &3 150 6.
9 11 44 V-1 s A 100 6.0 40| 3 5 3NS+2 &5 660 3.0 70| 9 11 3NS-1 *3 -100 4.
8 2 4vS-4 *2 -200 20 80| 9 11 3NS+2 &2 660 30 70 3 5 4vyN-2 «Q -200 1
10 7 34DV=¢J -730 0.0 100 8 2 6NS-1 *7 -100 0.0 100({10 7 6vy N-2 T -200 1
22 Ost OV 23 Syd Alla 24 Vst Ingen
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang Par Kontr Ut Res
2 7 46 0-3 a5 300 100 00| 2 7 4v V-1 s A 100 80 20| 5 12 34 S= *A 140 9.0
4 6 24 N= ¢ A 110 80 20| 4 6 4v0-1 a2 100 80 20(10 8 34 S-= *A 140 9.0
9 3 34aN-1 ¢2 -50 40 6.0| 5 12 4v V-1 s A 100 80 20| 4 6 INV-2 *Q 100 6.0
10 8 34 N-1 #J -50 40 6.0|{10 8 44 N-2 +A -200 40 6.0|11 1 44 S-1 *A -50 4.0
11 1 34 N-1 #J -50 40 6.0| 9 3 4v V= LY -620 1.0 90| 9 3 INV= *5 -90 2.0
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5 12 44 N-2 A -100 0.0 10011 1 4v V= s A -620 1.0 90| 2 7 INV+1 #2 -120 0.0 10.0
25 Nord OV 26 Ost Alla 27 Syd Ingen

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

2 11 5« V-1 vJ 100 90 10| 3 8 3NS+2 &7 660 100 0.0 2 11 3¢ S+1 ¢Q 130 80 20

3 8 4eV- vJ 100 90 10| 1 4 3NS+1 8 630 40 60| 5 7 3¢S+1 +¢v3 130 80 20

5 7 3V+2 vJ] -150 50 50| 2 11 3NS+1 &7 630 40 6.0(12 6 4¢ S= &T 130 80 20
12 6 3&8V+2 9] -150 50 50| 5 7 3NS+1 &7 630 40 6.0 3 8 3vV-1 +6 50 40 6.0

1 4 3NV= 48 -600 1.0 9.0[10 9 3NS+1 &7 630 40 6.0/10 9 4¢ S- v3 -50 20 8.0
10 9 54 0= aT -600 1.0 9.0|12 6 3NS+1 &7 630 40 6.0 1 4 2v0= &A -110 0.0 10.0
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